Advanced Chemistry Name

Hess's Law Worksheet - More Practice

1. Calculate AH for the reaction: PCls (g) --> PCl3 (g) + Clz (g) , from the following Data.

P4 (s) + 6Cl2 (g) > 4PCls (g) AH = -2439 kJ

4PCl5 (g) = P4 (s) + 10CI (g) AH = 3438 kJ

2. Calculate AH for the reaction 2C02(g) + H20(g) — C2H2(g) + 5/20:2(g), from the following Data.

C2Ha(g) + 2H2(g) — C2He(9) AH = -94 5 kT
H20(g) — Ha(g) + # Oz (9) AH =712 kJ
CoHs(g) + 7/2 O2(g) — 2C€02(g) + 3H20(g) AH = -283. kJ

3. Find AH® for the reaction N2Ha(l) + Hz(g) — 2NHs(g), using the following thermochemical data.

NzHa(l) + CH4O(I) — CH20(g) + Na(g) + 3Hz(g) AH = -37. kJ
Na(g) + 3Ha(g) — 2NH3(g) AH = -46. kJ

CH4O(l) — CH20(g) + Ha(q) AH = -65. kJ



4. Calculate AH for the reaction H.SO4(l) — SO3(g) + H20(g), given:

H2S(g) + 202(g) — H2S0a4(l) AH = -2355 kJ
Hz25(g) + 202(g) — SO3(g) + H20(l) AH = -207. kJ
H20(1) — H20(g) AH = +44 kJ

5. Calculate AH for the reaction N2(g) + 202(g) — 2NO 2(g) from the lata.

Nz(g) + 3Ha(g) — 2NHs(g) AH = -115. kJ
2NHs(g) + 4H20(I) — 2NO2(g) + 7H2(g) AH = -1425 kJ

H.0() — Ha(g) + 1/204(q) AH = -437 kJ



